
Miscellaneous

5B6345  – April 1996 8–1

Section 8: Miscellaneous

Description Page

Table of Contents

Miscellaneous  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 8-1
Leveling Screws and Seismic Kits . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 8-2
Miscellaneous Accessories  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 8-4



ILLUSTRATED PARTS LIST

8–2 April 1996 – 5B6345

Figure 8–1 Leveling Screws and Seismic Kits

H148_0163EA

3/8-in. Leveling Screw and Seismic Kit

1/2-in. Leveling Screw and Seismic Kit

10

9

8

1

2
3

4

5

6

7 4

5

H148_0163ECA



Miscellaneous

5B6345  – April 1996 8–3

Figure 8–1

Item Part No. Description Notes
8B6812 Seismic Kit for 3/8-in. Leveling Screws Includes Items 3 - 7.
8B7038 Seismic Kit for 1/2-in. Leveling Screws Includes Items 4, 5, 7, and 11.

1 459229 Screw - Leveling, 3/8 in.
2 459548 Plate - Floor
3 261898 Plate - Floor, Seismic Kit
4 188623 Bolt - Stainless Steel
5 173824 Washer
6 5B6954 Bracket - Seismic, for 3/8-in. Leveling Screw
7 261929 Punch Not shown.
8 8B6963 Screw - Leveling, 1/2 in.
9 853155 Nut

10 8B6962 Pad - for 1/2-in. Leveling Screw
11 8B6952 Bracket - Seismic, for 1/2-in. Leveling Screw



ILLUSTRATED PARTS LIST

8–4 April 1996 – 5B6345

Figure 8–2 Miscellaneous Accessories

Figure 8–2

Item Part No. Description Notes
1 479821 Cylinder - Graduated
2 472261 Strainer Assembly
3 744714 Plug - Adapter
4 955747 Cable - Adapter
5 650938 Gasket - Lighttight, 10-foot roll
6 459432 Tray - Drip
7 240864 Guard - Splash

H148_0178DA
H148_0178DCA

7

6

5

4

3

2

1


	Library
	Manual Contents
	Table of Contents
	Section 8:� Miscellaneous
	Figure 8–1� Leveling Screws and Seismic Kits
	Figure 8–2� Miscellaneous Accessories


